Supporting Information

Synthetic Utility of Ammonium Salts in the Cu-Catalyzed

Three-Component Reaction as a Facile Coupling Partner

Jinho Kim, S. Yunmi Lee, Junseung Lee, Youngkyu Do, and Sukbok Chang"

Department of Chemistry and School of Molecular Science (BK21), Korea Advanced Institute of

Science and Technology (KAIST), Daejeon 305-701, Republic of Korea

General Information
Experimental Procedure
General procedure of Table 1
Reaction profile of the Cu-catalyzed three-component coupling reactions
with benzylamine, benzyl alcohol, water, NH4Cl, and NH; (aq) (Figure S1)
General procedure for the Cu-catalyzed three-component coupling reaction
with NH4CI (Table 2 and 3)
General procedure for the Cu-catalyzed C-N cross coupling reaction (Table 4)
General procedure for the one-pot synthesis of 2H-1,2,4-benzothiadiazine

1,1-dioxides (Scheme 3)

Appendix |
Copies of 'H- and "C-NMR Spectral Data of New Compounds

Appendix 11
X-Ray Crystallographic Data

S1

S2

S2

S3~54

S4~S9

S9~S10

S10

S11~S30

S31~540



General Information: Unless otherwise stated, all commercial reagents and solvents were used
as purchased without additional purification. Analytical thin layer chromatography (TLC) was
performed on precoated silica gel 60 F,s4 plates. Visualization on TLC was achieved by the use of
UV light (254 nm) and treatment with phosphomolybdic acid or anisaldehyde stain followed by
heating. Flash column chromatography was undertaken on silica gel (60 F,s4 400-630 mesh). 'H
NMR was recorded on 400 MHz and chemical shifts were quoted in parts per million (ppm)
referenced to the appropriate solvent peak or 0.0 ppm for tetramethylsilane. The following
abbreviations were used to describe peak splitting patterns when appropriate: br = broad, s = singlet,
d = doublet, t = triplet, q = quartet, m = multiplet, dd = double of doublet. Coupling constants, J,
were reported in hertz unit (Hz). °C NMR was recorded on 100 MHz and was fully decoupled by
broad band proton decoupling. Chemical shifts were reported in ppm referenced to the center line
of a triplet at 77.0 ppm of chloroform-d. Infrared (IR) spectra were recorded neat in 0.5 mm path
length using a sodium chloride cell and frequencies are given in reciprocal centimeters (cm™) and
only selected absorbance is reported. High resolution mass spectra were recorded using FAB

method.

General procedure of Table 1: To a stirred mixture of NH4Cl1 or NH; (aq, 28%) (0.5 mmol), Cul
(9.5 mg, 0.05 mmol), phenylacetylene (0.066 mL, 0.6 mmol) in the indicated solvent (1 mL) was
slowly added triethylamine under N, at room temperature. After color changed to yellow, p-
toluenesulfonyl azide (98.6 mg, 0.5 mmol) was added dropwise. After the reaction was completed,
which was monitored with TLC, the reaction mixture was diluted by adding CH,Cl, (2 mL) and
aqueous NH,4CI solution (3 mL). The mixture was stirred for an additional 30 min and two layers
were separated. The aqueous layer was extracted with CH,Cl, (3 mL x 3). The combined organic
layers were dried over MgSQ,, filtered, and concentrated in vacuo. The crude residue was purified

by flash column chromatograph with an appropriate eluting solvent system.

Table S1. Screen of the Cu-Cataltzed Three-Component Reactions Using Ammonium Salts®,

=Z Cul, EtN N
+ Ts—Nz + NH4X W s
solvent, 25°C, 1 h NH;

6
entry NH4X Et;N (equiv) solvent yield (%)b
1 NH,C1 2 CHCl, 68
2 NH,4CI 2 CH,Cl, 85
3 NH,Cl1 2 CICH,CH,Cl 72

S2



4 NH,Cl 2 THF 58

5 NH,Cl1 2 DMF 45
6 NH,Cl1 2 DMSO 25
7 NH,C1 2 1,4-dioxane 52
8 NH,Cl1 1.5 CH,Cl, 84
9 NH,4C1 0.5 CH,Cl, 62
10° NH,Cl1 1.5 CH,Cl, 87
11° NH; (aq) 2 CHCl; 87
12° NH; (aq) 2 CH,Cl, 88
13° NH; (aq) 2 THF 63
14° NH; (aq) 1.5 CH,Cl, 89

2 Phenylacetylene (0.5 mmol), p-toluenesulfonyl azide (0.5 mmol), Et;N, NH,X (0.5 mmol),
and Cul (0.05 mmol) in the indicated solvent (1.0 mL) at 25 °C for 1 h under N,. ° 'H NMR

yield (internal standard: 1,1,2,2-tetrachloroethane). © Run open to the air.

Reaction profile of the Cu-catalyzed three-component coupling reactions with benzylamine,
benzyl alcohol, water, NH,CI, and NH; (aq). To a stirred mixture of each coupling partner (0.5
mmol), Cul (9.5 mg, 0.05 mmol), phenylacetylene (0.056 mL, 0.5 mmol) in CH,Cl, (1 mL) was
slowly added triethylamine under N, at room temperature. After color changed to yellow, p-
toluenesulfonyl azide (98.6 mg, 0.5 mmol) was added dropwise, and the reaction mixture was
stirred at room temperature. An aliquot was taken over time from the reaction mixture and product
yield from the corresponding reaction was monitored by '"H NMR using an internal standard

(1,1,2,2-tetrachloroethane) in the indicated interval, and the results are presented in Figure S1.

S3



Yield (%)
100

o0
0 —m— NH;lag)
70 -
60 - BnNH;

50

t

NH,Cl
40

t

30 4 HzO

20 A
BnOH

10 4

a

2 4 8 12 20 60 Time (min})

Figure S1. Product yield in the Cu-catalyzed three-component coupling

reactions with NHj (aq), benzylamine, NH,Cl, water, and benzylalcohol.

General procedure for the Cu-catalyzed three-component coupling reaction with NH,CI
(Table 2 and 3). To a stirred mixture of NH,4CI (26.7 mg, 0.5 mmol), Cul (9.5 mg, 0.05 mmol),
alkyne (0.5 mmol) in CH,Cl, (1 mL) was slowly added triethylamine (0.14 mL, 0.75 mmol) at
room temperature. After color changed to yellow, indicated azide (0.5 mmol) was added dropwise.
After the reaction was completed, which was monitored with TLC, the reaction mixture was diluted
by adding CH,Cl, (2 mL) and aqueous NH4CI solution (3 mL). The mixture was stirred for an
additional 30 min and two layers were separated. The aqueous layer was extracted with CH,Cl, (3
mL x 3). The combined organic layers were dried over MgSQy, filtered, and concentrated in vacuo.
The crude residue was purified by flash column chromatograph with an appropriate eluting solvent
system. Sometimes, polar products were purified by recrystallization using dichloromethane and

hexane.

2-Phenyl-N-(p-toluenesulfonyl)acetamidine (entry 1, Table 2): white solid; m.p. 115-116 °C; 'H
NMR (400 MHz, CDCl;) 6 8.02 (br, 1H), 7.75 (d, J = 8.2 Hz, 2H), 7.30-7.16 (m, 7H), 5.97 (br, 1H),
3.58 (s, 2H), 2.38 (s, 3H); °C NMR (100 MHz, CDCl3) § 167.5, 143.0, 139.0, 133.4, 129.5, 129.3,
129.1, 127.9, 126.3, 43.6, 21.4; IR (NaCl) v 3327, 3328, 3238, 1654, 1545, 1449, 1414, 1277, 1103,
801 cm™'; HRMS(FAB) m/z calcd. for C;sH;,0,N,S [M+H]": 289.1011, found: 289.1001.

S4



2-[4-(Trifluoromethyl)phenyl]-N-(p-toluenesulfonyl)acetamidine (entry 2, Table 2): white
solid; m.p. 194-195 °C; '"H NMR (400 MHz, DMSO-dg) § 8.85 (s, 1H), 8.06 (s, 1H), 7.62 (d, J =
8.1 Hz, 2H), 7.58 (d, J = 8.2 Hz, 2H), 7.41 (d, J = 8.0 Hz, 2H), 7.25 (d, J = 8.0 Hz, 2H), 3.63 (s,
2H), 2.33 (s, 3H); C NMR (100 MHz, DMSO-ds) & 166.7, 142.0, 140.5, 139.6, 129.6, 129.0,
127.5 (q, J, =31.3 Hz), 125.8, 125.1 (q, J; = 3.8 Hz), 124.4 (q, J; = 291.9 Hz), 41.7, 20.8; IR (KBr)
v 3380, 3340, 3252, 1672, 1567, 1412, 1331, 1254, 1140, 818, 698 cm™'; HRMS (EI) m/z calcd. for
C16H150,N,F3S [M]': 356.0806, found: 356.0805.

N.
NH
O,N 2

2-(4-Nitrophenyl)-N-(p-toluenesulfonyl)acetamidine (entry 3, Table 2): yellowish solid; m.p.
173—174 °C; 'H NMR (400 MHz, DMSO-d¢) & 8.87 (s, 1H), 8.13 (d, J = 8.8 Hz, 2H), 8.09 (s, 1H),
7.60 (d, J = 8.2 Hz, 2H), 7.46 (d, J = 8.7 Hz, 2H), 7.27 (d, J = 8.1 Hz, 2H), 3.69 (s, 2H), 2.33 (s,
3H); °C NMR (100 MHz, DMSO-d¢) 8 166.3, 146.5, 143.7, 142.2, 139.5, 130.1, 129.1, 125.9,
123.4,41.6,20.9; IR (NaCl) v 3429, 3324, 3245, 1636, 1548, 1520, 1273, 1141, 1083, 617, 778 cm’
' HRMS (EI) m/z calcd. for C;sH;s04N3S [M]": 333.0783, found: 333.0780.

/©/\(/N‘Ts

Ve NH,

2-(4-Methylphenyl)-N-(p-toluenesulfonyl)acetamidine (entry 4, Table 2): white solid; m.p.
124-125 °C; 'H NMR (400 MHz, CDCl;) 6 8.01 (br, 1H), 7.75 (d, J = 8.3 Hz, 2H), 7.23 (d, J = 8.2
Hz, 2H), 7.09 (d, J = 8.1 Hz, 2H), 7.05 (d, J = 8.1 Hz, 2H), 5.99 (br, 1H), 3.54 (s, 2H), 2.38(s, 3H),
2.29 (s, 3H); °C NMR (100 MHz, CDCl;) & 167.8, 142.9, 139.0, 137.6, 130.2, 129.7, 129.3, 129.2,

126.3, 43.1, 21.4, 21.0; IR (NaCl) v 3397, 3320, 1638, 1544, 1264, 1141, 1084, 809 cm™'; HRMS
(EI) m/z caled. for CsH,;30,N,S [M]": 302.1089, found: 302.1087.

N.

=~ Ts
2-(4-Bromophenyl)-N-(p-toluenesulfonyl)acetamidine (entry 5, Table 2): white solid; m.p. 177—
178 °C; "H NMR (400 MHz, DMSO-d¢) & 8.77 (s, 1H), 8.00 (s, 1H), 7.60 (d, J = 8.2 Hz, 2H), 7.45

S5



(d, J = 8.4 Hz, 2H), 7.27 (d, J = 8.1 Hz, 2H), 7.16 (d, J = 8.4 Hz, 2H), 3.49(s, 2H), 2.34(s, 3H); *°C
NMR (100 MHz, DMSO-dg) § 167.1, 142.1, 139.6, 135.1, 131.1, 131.0, 129.1, 125.9, 120.0, 41.3,
20.9; IR (NaCl) v 3375, 3211, 1664, 1581, 1565, 1404, 1250, 1139, 1085, 767, 530, 514 cm’;
HRMS (EI) m/z caled. for CysH;50,N,BrS [M]": 366.0038, found: 366.0038.

N.
W Ts
NH
Br 2

2-(2-Bromophenyl)-N-(p-toluenesulfonyl)acetamidine (entry 6, Table 2): white solid; m.p. 95—
96 °C;'H NMR (400 MHz, CDCl;) § 8.03 (br, 1H), 7.72 (d, J = 8.3 Hz, 2H), 7.51 (d, J = 7.9 Hz,
1H), 7.24-7.20 (m, 4H), 7.15-7.11 (m, 1H), 6.00 (br, 1H), 3.73 (s, 2H), 2.37 (s, 3H); °C NMR (100
MHz, CDCl;) & 166.2, 142.9, 138.8, 133.5, 133.1, 131.8, 129.6, 129.2, 128.0, 126.3, 125.0, 43.8,
21.4; IR (NaCl) v 3420, 3320, 3239, 1633, 1497, 1271, 1141, 1083, 814, 764 cm’; HRMS(FAB)
m/z calcd. for C,sH;sO,N,BrS [M+H]": 367.0116, found: 367.0111.

Me N.
\/W Ts

NH,
N-(p-Toluenesulfonyl)hexanamidine (entry 7, Table 2): white solid; m.p. 71-72 °C; 'H NMR
(400 MHz, CDCl3) 6 7.95 (br, 1H), 7.76 (d, J = 8.1 Hz, 2H), 7.23 (d, J = 7.9 Hz, 2H), 6.26 (br, 1H),
2.38 (s, 3H), 2.20 (t, J = 7.5 Hz, 2H), 1.58-1.50 (m, 2H), 1.22-1.13 (m, 4H), 0.78 (t, J = 6.9 Hz,
3H); *C NMR (100 MHz, CDCl3) § 169.6, 142.8, 139.3, 129.3, 126.3, 37.7, 30.9, 26.2, 22.2, 21 .4,
13.8; IR (NaCl) v 3416, 3328, 3242, 1637, 1552, 1270, 1141, 1084, 814 cm’'; HRMS (ED) m/z
caled. for C3H,00,N,S [M]™: 268.1245, found: 268.1248.

C'\/\/\(/’\LTS
NH,

5-Chloro-N-(p-toluenesulfonyl)pentanamidine (entry 8, Table 2): white solid; m.p. 100-101 °C;
'H NMR (400 MHz, CDCl;) & 7.97 (br, 1H), 7.76 (d, J = 8.2 Hz, 2H), 7.25 (d, J = 8.4 Hz, 2H),
6.27 (br, 1H), 3.43 (t, J = 6.3 Hz, 2H), 2.39 (s, 3H), 2.27 (t, J = 6.9 Hz, 2H), 1.75-1.65 (m, 4H); °C
NMR (100 MHz, CDCl;) & 168.6, 143.1, 139.0, 129.4, 126.2, 44.2, 36.7, 31.3, 23.7, 21.5; IR
(NaCl) v 3390, 3323, 3246, 1647, 1547, 1275, 1146, 1085, 609 cm™'; HRMS (EI) m/z calcd. for
C1,H,70,N,CIS [M]": 288.0699, found: 288.0704.

S6



M
Me ° N.
~ Ts

Me NH,
3,3-Dimethyl-N-(p-toluenesulfonyl)butanamidine (entry 9, Table 2): yellowish solid; m.p. 87—
88 °C; '"H NMR (400 MHz, CDCl5) & 8.03 (br, 1H), 7.77 (d, J = 8.2 Hz, 2H), 7.23 (d, J = 7.8 Hz,
2H), 6.17 (br, 1H), 2.38 (s, 3H), 2.08 (s, 2H), 0.89 (s, 9H); °C NMR (100 MHz, CDCl;) § 167.6,
142.9, 139.3, 129.2, 126.3, 51.2, 31.9, 29.6, 21.5; IR (NaCl) v 3414, 3328, 3241, 1636, 1550, 1267,
1140, 1083 cm™'; HRMS (EI) m/z caled. for C13H,00,N,S [M]": 268.1245, found: 268.1241.

N 2
2-(Pyridin-3-yl)-N-(p-toluenesulfonyl)acetamidine (entry 10, Table 2): yellow solid; m.p. 143—
144 °C; '"H NMR (400 MHz, DMSO-d,) 5 8.83 (s, 1H), 8.43 (s, 1H), 8.41 (s, 1H), 8.03 (s, 1H),
7.61-7.58 (m, 3H), 7.30-7.27 (m, 3H), 3.56 (s, 2H), 2.34 (s, 3H); °C NMR (100 MHz, DMSO-d¢) &
166.9, 149.8, 148.0, 142.1, 139.6, 136.2, 131.5, 129.1, 125.9, 123.4, 39.2, 20.9; IR (NaCl) v 3415,
3328, 3242, 1638, 1559, 1273, 1141, 1084, 815 cm™'; HRMS (EI) m/z calcd. for C,4H;50,N3S [M]":
289.0885, found: 289.0886.

N< //O
’ ?:O
N-(Methanesulfonyl)-2-phenylacetamidine (entry 1, Table 3): yellow solid; m.p. 94-95 °C; 'H
NMR (400 MHz, CDCl;) 6 7.80 (br, 1H), 7.37-7.24 (m, SH), 5.79 (br, 1H), 3.61 (s, 2H), 2.96 (s,
3H); “C NMR (100 MHz, CDCl3) § 167.3, 133.3, 129.5, 129.2, 128.0, 43.6, 42.0; IR (NaCl) v

3411, 3328, 3246, 1639, 1561, 1266, 1117, 971, 798 em™; HRMS (EI) m/z caled. for CoH,,0,N,S
[M]*: 212.0619, found: 212.0616.

N //O

#°8=0
mZ K/\Me
N-(Butanesulfonyl)-2-phenylacetamidine (entry 2, Table 3): white solid; m.p. 50-51 °C; 'H
NMR (400 MHz, CDCl;) 6 7.83 (br, 1H), 7.33-7.23 (m, 5H), 6.11 (br, 1H), 3.57 (s, 2H), 2.95 (t,J

=7.9 Hz, 2H), 1.71-1.64 (m, 2H), 1.40-1.31 (m, 2H), 0.86 (t, J = 7.4 Hz, 3H); *C NMR (100 MHz,
CDCly) 5 167.8, 133.8, 129.3, 129.0, 127.7, 53.9, 43.6, 25.2, 21.4, 13.5; IR (NaCl) v 3407, 3325,

S7



3244, 1638, 1561, 1260, 1114, 813 cm™; HRMS (EI) m/z calcd. for C,H;gO,N,S [M]": 254.1089,
found: 254.1092.

2
/N‘}ID\
NH; O ©~Ph
Ph
N-(Diphenylphosphoryl)-2-phenylacetamidine (entry 3, Table 3): white solid; m.p. 72-73 °C;
'H NMR (400 MHz, CDCl;) & 7.92 (s, 1H), 7.35-7.30 (m, 6H), 7.23-7.16 (m, 9H) 6.04 (s, 1H),
3.66 (s, 2H); *C NMR (100 MHz, CDCl;) & 171.9, 171.8, 151.1, 151.0, 134.3, 129.7, 129.4, 129.3,
128.9, 127.6, 125.0, 124.6, 120.5, 120.4, 120.3, 120.2, 44.5, 44.3; IR (NaCl) v 3449, 3317, 1649,
1577, 1489, 1194, 933 cm’’; HRMS(FAB) m/z calcd. for Cy0H,003N,P [M+H]": 367.1212, found:
367.1214.

O
/N‘S//:O
NH©/ Br

N-(2-Bromobenzenesulfonyl)-2-phenylacetamidine (entry 4, Table 3): white solid; m.p. 138—
139 °C; 'H NMR (400 MHz, CDCl;) & 8.22 (br, 1H), 8.21 (dd, J = 7.4, 1.8 Hz, 1H), 7.70 (dd, J =
7.8 Hz, 1H), 7.43-7.24 (m, 7H), 5.78 (br, 1H), 3.68 (s, 2H); °C NMR (100 MHz, CDCl;) & 168.6,
140.8, 134.9, 133.2, 132.8, 130.0, 129.9, 129.4, 128.2, 127.5, 120.8, 43.8; IR (NaCl) v 3416, 3327,
3242, 1634, 1551, 1272, 1145, 777 cm™'; HRMS (EI) m/z caled. for C,4H;30,N,BrS [M]": 351.9881,
found: 351.9878.

N-(2-Bromobenzenesulfonyl)hexanamidine (entry 5, Table 3): yellow solid; m.p. 60-61 °C; 'H
NMR (400 MHz, CDCl;) & 8.18 (dd, J = 7.8, 1.7 Hz, 1H), 8.08 (s, 1H), 7.68 (dd J = 7.8, 1.0 Hz,
1H), 7.42 (td, J = 7.6, 1.0 Hz, 1H), 7.34 (td, J = 7.8, 1.7 Hz, 1H, 6.23 (s, 1H), 2.26 (t, J = 8.0 Hz,
2H), 1.63-1.60 (m, 2H), 1.27-1.22 (m, 4H), 0.81 (t, J = 7.1 Hz, 3H); *C NMR (100 MHz, CDCL) &
170.5, 140.9, 134.9, 133.0, 129.9, 127.4, 120.7, 38.0, 31.1, 26.1, 22.2, 13.8; IR (NaCl) v 3419,
3329, 3243, 1636, 1548, 1271, 1145, 1026, 953, 758 cm’; HRMS (EI) m/z caled. for
C1,H,70,N,BrS [M]': 332.0194, found: 332.0197.

S8



o)
N 7
TMS/\// s=o
NH Br

N-(2-Bromobenzenesulfonyl)-2-(trimethylsilyl)acetamidine (entry 6, Table 3): white solid; m.p.
94-95 °C; "H NMR (400 MHz, CDCl3) § 8.16 (dd, J = 7.8, 1.7 Hz, 1H), 8.02 (br, 1H), 7.67 (dd, J =
7.8, 1.1 Hz, 1H), 7.41 (td, J=7.6, 1.1 Hz, 1H), 7.33 (td, J=7.7, 1.8 Hz, 1H), 5.99 (br, 1H), 1.87 (s,
2H), 0.07 (s, 9H); °C NMR (100 MHz, CDCl5) § 170.3, 141.3, 134.9, 132.9, 129.9, 127.3, 120.5,
30.5, -1.43; IR (NaCl) v 3422, 3329, 3235, 1633, 1533, 1447, 1252, 1144, 854, 760 cm™'; HRMS
(EI) m/z caled. for C;;H;70,N,BrSiS [M]": 347.9963, found: 347.9963.

General procedure for the Cu-catalyzed C-N cross coupling reaction (Table 4). To a mixture
of 2-bromobenzenesulfonyl amidine derivatives (0.3 mmol), Cul (0.03 mmol, 0.1 equiv), 1,10-
phenanathroline (0.06 mmol, 0.2 equiv), and Cs,CO; (0.6 mmol, 2.0 equiv) was added DMF (4
mL). The reaction mixture was heated at 80 °C for 16 h under N,. The reaction was diluted with
EtOAc and washed with H,O and saturated NaCl solution. The organic layer was dried over
MgSO,, and concentrated in vacuo. The crude product was purified by a recrystallization (ethyl

acetate and hexane).

O]
Ngg

3-Benzyl-2H-1,2,4-benzothiadiazine 1,1-dioxide (entry 1, Table 4): yellowish solid; m.p. 213—
214 °C; "H NMR (400 MHz, DMSO-d¢) & 12.2 (s, 1H), 7.78(d, J = 7.5 Hz, 1H), 7.67 (t, J = 7.5 Hz,
1H), 7.45-7.28 (m, 7H), 3.87(s, 2H); °C NMR (100 MHz, DMSO-d¢) & 158.5, 135.1, 135.0, 133.1,
129.0, 128.6, 127.1, 126.4, 123.4, 121.1, 117.5, 41.5; IR (KBr) v 3436, 3255, 1613, 1578, 1531,
1492, 1274, 1162, 767 cm’; HRMS(FAB) m/z calcd. for C;4H,30,N,S [M+H]": 273.0698, found:
273.0695.

Me N_

3-Pentyl-2H-1,2,4-benzothiadiazine 1,1-dioxide (entry 2, Table 4): white solid; m.p. 158159
°C; 'H NMR (400 MHz, DMSO-d) & 11.9 (s, 1H), 7.77 (d, J = 7.3 Hz, 1H), 7.65 (t, J = 7.3 Hz,
1H), 7.41 (t, J = 7.6 Hz, 1H), 7.31 (d, J = 8.2 Hz, 1H), 2.52 (t, J = 7.4 Hz, 2H), 1.70-1.63 (m, 2H),
1.32-1.30 (m, 4H), 0.87 (d, J = 6.9 Hz, 3H); °C NMR (100 MHz, DMSO-d,) & 160.3, 135.1, 133.0,

S9



126.1, 123.4,121.2, 117.3, 35.2, 30.4, 25.7, 21.7, 13.8; IR (NaCl) v 3274, 3184, 3126, 1611, 1582,
1534, 1288, 1154, 1134, 759 cm™'; HRMS (EI) m/z calcd. for C,H;40,N,S [M]™: 252.0932, found:
252.0936.

3-Methyl-2H-1,2,4-benzothiadiazine 1,1-dioxide (entry 3, Table 4): yellowish solid; m.p. 254—
255 °C; '"H NMR (400 MHz, DMSO-dg) & 12.0 (s, 1H), 7.77 (d, J = 7.8 Hz, 1H), 7.65 (t,J = 7.2 Hz,
1H), 7.41 (t, J = 7.5 Hz, 1H), 7.29 (d, J = 8.2 Hz, 1H), 2.29 (s, 3H); °C NMR (100 MHz, DMSO-
de) 8 157.1, 135.1, 133.0, 126.1, 123.4, 121.0, 117.2, 22.6; IR (KBr) v 3446, 3265, 3184, 3124,
1614, 1585, 1534, 1479, 1277, 1159, 813, 763 cm™'; HRMS (EI) m/z caled. for CgHsO,N,S [M]:
196.0306, found: 196.0304.

General procedure for the one-pot synthesis of 2H-1,2 4-benzothiadiazine 1,1-dioxide
(Scheme 3). To a stirred mixture of NH4Cl (26.7 mg, 0.5 mmol), Cul (9.5 mg, 0.05 mmol),
phenylacetylene (0.5 mmol) in CH,Cl, (1 mL) was slowly added triethylamine (0.14 mL, 0.75
mmol) at room temperature. After color changed to yellow, indicated azide (2-
bromobenzenesulfonyl azide) (0.5 mmol) was added dropwise. After the reaction was completed,
which was monitored with TLC, the reaction mixture was concentrated in vacuo. To the above
crude residue, 1,10-phenanathroline (0.06 mmol, 0.2 equiv), Cs,CO;5 (0.6 mmol, 2.0 equiv), and
DMF (4 mL) were added. The reaction mixture was heated at 80 °C for 16 h under N,. The reaction
was diluted with EtOAc and washed with H,O and saturated NaCl. The organic layer was dried
over MgSQO,, and then concentrated in vacuo. The crude product was purified by recrystallization

(ethyl acetate and hexane) to afford 3-benzyl-2H-1,2,4-benzothiadiazine 1,1-dioxide in 77 % yield.

S10



Appendix [/

Spectral Copies of *H and **C NMR of

Products Obtained in this Study

S11



2-Phenyl-N- (p-toluenesulfonyl)acetamidine (entry 1, Table 2)

_—— 3.5832
T— 3.5125

— 2.381%

—=-0.0197

: VRPN o

F | n\ S|oy|m ol = af

H ‘3 (g 8|22 bt S 5

s ol |- |aiaf= c.'l ol -

! T T T T T T T T T

ppm 9 8 7 6 4 é a
w N O~ @0 W W @ = m o

§ ¢ B ERYRIER R8s a g

8 5 YRR LRE RRE g =

‘ g oy - : .

ppm 160 140 120 B0



2-[4-(Trifluoromethyl)phenyl]-N-(p-toluenesulfonyl)acetamidine (entry 2, Table 2)

ppm
8.B4766
———3.62599
—3.32326
———2.4%004
—2.32733

H,O

DMSO

) \
& 3 8 §l§ 3 g 5
g s i O o e o o
—r T T T T T T T - T T T T T T T
ppm 9 ] 7 [ 5 4 3 2 1 0
c 8 BNZB88EE B
g 5 coosmgas g
¢  ossasnissgescssy 0 Temgdzawa &
I W |
§352388
Legeees £
V¥
.
)‘U o }\ L) ”U‘ ‘
syt N A it Wt Ngingniy S s
) T X
|
N R e
ppm 160 140 120 100 B0 60 40 20

S13



2-(4-Nitrophenyl)-N-(p-toluenesulfonyl)acetamidine (entry 3, Table 2)

922EE 2

EETBP m/
[74:: -3
p2oer 2
68r6Y 2
EVBEF 2

LIG0E €

16589 €E—

vees2 L
s06L2 L

Teery L
p2ery L
ErGOr°L
oLy L
9BGLY L
TEG8G L
G968G hwl
21909° ¢
20580 8—__
ESETI'B
6L611°8
85zl 8

989E1 .m\\
ogiri-a

st m\l
PpELB'S

H,O

DMSO

Z "Ts

NH,

O,N

LH 000072 |

CH,Cl,

\ll
T
=586t
Zb0%E '

— 19680

=696 ¢ |

20607 |

Teatarur

e [

9= 8GS0°E

ppm

/88702 ——

ELB'BE
180°BE
062" 6E
66V " BE

80L°BE

916°6E
ceior
LI97IF

¥BE"E2h——
168°62——
i BEl——
eV oEI—"

667 BET——
081 2Pl —
969 €V —
9y 9Pl —

P2E'93F——

—.LJM—-—-.--—J»«..LW

S14



2-(4-Methylphenyl)-N-(p-toluenesulfonyl)acetamidine (entry 4, Table 2)

o o mommwo
= SRS ZS8LFER
g S BT B823s88

L N NN

1

5

3

3

1

9

7

5

3
———5.99290
3.54116

-

_———2.38265
——-2.29439

——2.00941

/l 1
- ram wfl o = oo
s 8l |a 8lls 2 g o/
g 3 |8 g|la 3 WS( ‘8{%
£ ol |- aillm s o~ il .
T I T T T T T T T T T
pam 8 7 6 5 4 3 2 1
2 0 gecnowmos cag o
s g BIZERIRA 88 i g8
g YHEARERE REE s 58
AN N4 Y
— T | T R A A B T T T 1
ppm 160 140 120 100 B0 60 40 20

S15



2-(4-Bromophenyl)-N-(p-toluenesulfonyl)acetamidine (entry 5, Table 2)

2.49401

_ée.mem
2. 48530
T—23am0

——3.48862
3.31876

H,O

DMSO

- U
[ ' /]
H 8 é‘ar ngg & g ]
& 5 o & 88| = &
k] it b O B 2 @
= D‘ =l || o a

! i T ’ T T T T I

pp 3 ] 7 6 5 4 3 2

= @emoouown ©® . mo-mNYTONOD
& 2 wmTSSsa=é g LR R-R N N
e s Sw=m=.ono S m-a~NBd o @
a ~  dooooon = cooogoao
& 0 Smomman & STMmaAan

S16



2-(2-Bromophenyl)-N-(p-toluenesulfonyl)acetamidine (entry 6, Table 2)

3.72903
2.36963

§I 2
oF b
o~ ™
T — T ; free————
5 4 3 2 1
2 snE y =
< g B3¢ HEE g L
= £ YRR RRE g S
AR Y |
e ——— —— T — — T
PR 160 140 120 100 80 60 40 20

S17



N-(p-Toluenesulfonyl)hexanamidine (entry 7, Table 2)

Mmoo o~
mmmmm
mmmmm
mmmmm
nnnnn

SO TOUNTONODRMD T Y S0 WN OO
DN QORrICAmMEo T@Noms ~om
BrNCg BN bMucNodr BTN~ DM
R R R T IR I E R S S e

ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ

TN

ppm
— 6.2570

NH,

=
ﬁ

2. 1046

t 1
__
@-10.9543
e ———
I
2.1568
R
40.9225
9.8288
3.3623
2.0043
2.0000
- -
4.0858
4095
2.9858
|
|

7
ppm 9

. i@ n @ oosy g
g B £8 &R 288 2 ERER B

8 g ¥a 88 R 5 8 gdx @

r T T T T T T T T T 1
ool 160 140 120 100 80 60 40 20

S18



5-Chloro-N-(p-toluenesulfonyl)pentanamidine (entry 8, Table 2)

wwwww

~ =@
mmmmm o S\ |
e o< BT < Kal
a 2 B&od oW ~ Y8
a o~ R &8 & <95
P~~~ T momom

b
-

|
{

NS

1.9134

2.0672
=

-

|

L
L

Integral
-
©-0.9913

-]
°

o @ o ™o oo v @ o2 w3
o 9 @ ~ o= -0 @ = o = =@

e B -] " & a88 -
2 @ o o@ o w e s 8 o @
2 38 & & RRR I 8 & &8

r 1 T T T T T T T T T
oo 160 140 120 100 80 60 40 20

S19



3,3-Dimethyl-N-(p-toluenesulfonyl)butanamidine (entry 9, Table 2)

@ mo @ o
329 ©3 ] 2 &
& £83 IT% & D @
£ =88 I3 2 o e
g P E 55
PN o o IS

<
®

<

@D
\i

Z
_‘
w

Me NH,

0.83079

s
S—
T S

|

i

L

0.93d0
0043
|
0000 -

- | (o
2 o |2 |
& &3 |
g o & |
& ol |- P [
T —— 7 ‘
ppm 8 7 B g 4 3 2
oy ) ™ ©o o
w @ ~ -
g ] & & ERg] &
a @ @ o ~ o~
2 & & RRE 3

———143.098
——126.247

— 36.729
— 31.340

—_— 23.716
——— 21.484

S20



2-(Pyridin-3-yl)-N-(p-toluenesulfonyl)acetamidine (entry 10, Table 2)

5 8 2B gEEg
“" W
H,O
Y Y
= NH
N 2
DMSO

‘ S - L .JL

= o |al ol ol [= - 'Ll'

z g & g 18 |z 3 2

g )8 & e 3 |8 o I8

E - ] al e ) |em

T T T T T 1 | T

pon 9 ] 7 6 5 4 3 2 0
mmmmmmm
mmmmm

e &8 0 3 @8 s & 937gRe5

g !

g

mmmmmmm
mmmmmmm

———166.869

T T T A
120 100 80

S21



N-(Methanesulfonyl)-2-phenylacetamidine (entry 1, Table 3)

ppm

9
——— 3.6096
— 2.9556
-0.0316

- - ~ > o °
g 2 b & 5 g
H s 3 a 2 8
- < S - ™
- T T T T T T T A T T T T T T T
ppm 9 8 7 6 5 a 3 2 1 0
o ~a=m —me 0w
e & [R583 888 58
a = mag® N e @ =
< oNgy AN =
: — — —_— - T : ey
ppm 160 140 120 100 80 60 40 20

S22



N-(Butanesulfonyl)-2-phenylacetamidine (entry 2, Table 3)

ppm

———6.11086

O
/N\S//:o
NH2 K/\

Me

T T T T
B 5 4 3 2 i
5 5382 253y g 3 T8 &
. 3 5382 253 B8 38 @
8 agas Rre g 0 g5 o
I N/ W/ ] i
e | N
ppm 160 140 120 100 80 60 40 20

S23



N-(Diphenylphosphoryl)-2-phenylacetamidine (entry 3, Table 3)

{0}
1
21
3;
5
7
7
3¢
9
0
3.65951

NNNNNNNNN

o s
& 3|3 8 8
& bk ~ S
g o o|o o S
- w|o ol Y
f T T I T T 1 T T
pp 9 8 7 6 5 4 3 2
- ©
=8 ogm o~
Z283
g @ ® s383 88
8 - d ?
N
SIS RR R 33

-
O
<

S24

w0



N-(2-Bromophenylsulfonyl)-2-phenylacetamidine (entry 4, Table 3)

o
.21
.21
.19
19
71
BS;
[
43,
43
38
37
36,
36
35
34
.33
. 261
. 26
.24
24

3.6782

hhhhhhhhhhhhhhhhhhhh

-0.0187

A
- L gl o
A ETE 8 8
= BIISER 2 g
EA R 5 8
- || |m|eu =l N —
T T | T L T r ——
ppm 9 8 7 6 L] 4 3 2 1 L]
8  ssresgmeme ems o
8  B5c3ssEsss 2
. 8 E5sgnapgss £83 H
E 5§ 2 GSspndsssn
8 sigdgdRgag RER N

Sz v

S25



N-(2-Bromophenylsulfonyl)hexanamidine (entry 5, Table 3)

G620 0-—__
2L6L'0

BrI8° 0 /
99280
02£8°0

s022°1

90E2" |

2BE2 T

8v2°F —
o

05651
2009°t

orig’i
S2E9°T
EBE2e —7F
€852 2 \
vilg'e

—_— 90E0 ¥

0000°€

Me

-

J €66 1
o

3500°2

—
—_ L0VE 0+

re
[ estanur| &

FGLER —

ver i —
aLvee —

gr2reg —
B.8°0E ——

EVLLE ——

69°9¢
166°9¢ Wu
vIETLL

L5292t
162 6t —

652 BEF—
9E8 2l ——

055" 691 ——

m
|

Ppm

S26



N-(2-Bromophenylsulfonyl)-2-(trimethylsilyl)acetamidine (entry 6, Table 3)

T M-
@O o

R el R R o S i R T PR3 X
T ER=R=REY
e e e e e e N N N N cooo

ppm
1
1
1
1
[}
6
[
B¢
4
4
3
3
3
3
3
3
3
3
2!
.2
9
— 1.8562
— 1.6814

™~—

=
=

2 | m\.\ 0 A o
S8 |18 |5 9 g 3
& wlal o |S o g 2
&l (& |8 ] 8 ]
g slol |sl o ° o @
—r T T T T ' T T T T T T T T
ppm 9 [ 7 6 5 4 3 2 1 0
o s oz w© @em m o
3 5 2°39 8 il o B
e & & Sada s383 a <
a8 s o Taon o ~ o o -
g T 28385 8 RRE B
VL
A

T e B B s e T S T S i
pom 180 160 140 120 100 a0 60 40 20 0

S27



3-Benzyl-2H-1,2,4-benzothiadiazine 1,1-dioxide (entry 1, Table 4)

B

6.

B

)

4!

51

.43

1

6.

4

4

2!

9’

9

B:

7!
3.8667
2.4940
2.4901
2.4861

mmmmmmmmmmmmmmmmm

ppm
—12.2396
— 3.3387

<3

DMSO

integral
|

1.0645
1.0470

-

3
s &
s 3

" Dot o Vi i i‘
— e . ‘ ——
ppm 160 140 120 100 a0 6]0 :E '

S28



3-Pentyl-2H-1,2,4-benzothiadiazine 1,1-dioxide (entry 2, Table 4):

SEYE 0
6098 0
64480
.62 1
LLOETT
991£" 1
£929°1
SkP9 1
42991
80891
6869 1
0982
2067 2
2lewe
9915°2
256" 2
GYEE'E

N W

£9E6 HI——

Me

_
7

0000°E

BE20 P

93002

e T =T ‘2r
= 8ig0 e:

I
— 7086 0

ool
— mhmm‘c,r

~EE 0

T

T

CILEN ——

geL’ig ——

989°G62
PBEOE
002'GE
648 BE
880" 6E
962" 6€

505 °6E
EFL BE
226 6E
0EL 0F

S|

S92 LI ——
631 12F——
GBE E2F——
TEL 82—

556" 2ET——n
QI GET—

€62 09F ——

AR

60

e

&

100

120

S29



3-Methyl-2H-1,2,4-benzothiadiazine 1,1-dioxide (entry 3, Table 4)

mmmmmmmmmmm

< g RIS N B IFEE
5 g EREBIEYEARS & 33&g
s IIAZRLIIII m e
Me _N.z
g0
HN\©
DMSO
H,O
I\ UJJ L
5 < ARAN <
= T I e e ] T T —— T
pp! 12 10 [} 6 4 2
o mosg
§ 8058
g § 25§
a8 o oe
# 8RR

———157 194

—135.130
—126.123
——120.991

—— 22.563

S30



Appendix //

X-Ray Crystallographic Data for

2-(4-Bromophenyl)-N-(p-toluenesulfonyl)acetamidine

(sbc08-2)

S31



Table S1. Crystal data and structure refinement for 2-(4-Bromophenyl)-N-(p-toluene-
sulfonyl)acetamidine (sbc08-2).

Identification code
Empirical formula
Formula weight
Temperature
Wavelength
Crystal system
Space group

Unit cell dimensions

Volume

Z

Calculated density
Absorption coefficient

F(000)

Crystal size

Theta range for data collection
Limiting indices

Reflections collected / unique
Completeness to theta = 25.00
Absorption correction

Max. and min. transmission
Refinement method

Data / restraints / parameters
Goodness-of-fit on F*

Final R indices [[>2sigma(])]
R indices (all data)

Largest diff. peak and hole

sbc08-2

C15HI5SBrN202S

367.26

296(2) K

0.71073 A
Monoclinic
P2(1)/c
a=18.5152) A
b=11.0857(12) A
c=7.8824(9) A

alpha=90°
beta = 95.619(6) °

gamma = 90 °

1610.1(3) A°

4

1.515 Mg/m’

2.687 mm”

744

0.2x0.15x 0.10 mm’

2.14 t0 26.94°

-15<=h<=23, -13<=k<=14, -10<=1<=9
11662 / 3232 [R(int) = 0.0689]
99.9 %

Empirical

0.76 and 0.68

Full-matrix least-squares on F*
3232/0/191

1.003

R1=0.0672, wR2 = 0.1646
R1=0.1899, wR2 =0.2145
1.024 and -0.687 e.A™

S32



Table S2. Atomic coordinates ( x 10*) and equivalent isotropic displacement parameters (A* x

10%) for sbc08-2. U(eq) is defined as one third of the trace of the orthogonalized U tensor.

X y z U(eq)
Br(1) 829(1) 11004(1) 10324(2) 150(1)
C() 1840(4) 11171(7) 10248(9) 70(2)
C(2) 2283(4) 10302(6) 10998(8) 72(2)
C(3) 3024(4) 10388(6) 10920(8) 67(2)
C4) 3320(4) 11344(6) 10112(8) 60(2)
C(5) 2864(4) 12215(6) 9390(8) 72(2)
C(6) 2121(5) 12130(6) 9450(9) 79(2)
C(7) 4126(4) 11402(7) 9907(9) 84(2)
C(8) 4298(3) 10763(6) 8296(8) 57(2)
N(1) 4863(3) 11156(5) 7623(7) 73(2)
N(2) 3872(3) 9879(5) 7736(6) 66(2)
S(1) 3886(1) 9254(2) 5925(2) 57(1)
o(1) 4118(2) 10056(4) 4637(5) 65(1)
0Q2) 4267(3) 8128(4) 6064(7) 99(2)
C©) 2960(3) 8935(5) 5435(7) 49(1)
C(10) 2435(3) 9738(6) 5854(8) 62(2)
C(11) 1711(4) 9497(7) 5369(9) 82(2)
C(12) 1498(4) 8463(9) 4487(10) 84(2)
C(13) 2022(5) 7679(7) 4080(9) 85(2)
C(14) 2757(4) 7898(5) 4534(8) 68(2)
C(15) 701(4) 8187(10) 3973(12) 144(4)

S33



Table S3. Bond lengths [A] and angles [°] for sbc08-2.

Br(1)-C(1) 1.886(7)
C(1)-C(2) 1.362(9)
C(1)-C(6) 1.365(9)
C(2)-C(3) 1.382(9)
C(2)-H(2) 0.9300
C(3)-C(4) 1.378(8)
C(3)-H(3) 0.9300
C(4)-C(5) 1.370(9)
C(4)-C(7) 1.517(8)
C(5)-C(6) 1.385(9)
C(5)-H(5) 0.9300
C(6)-H(6) 0.9300
C(7)-C(8) 1.515(8)
C(7)-H(7A) 0.9700
C(7)-H(7B) 0.9700
C(8)-N(1) 1.295(7)
C(8)-N(2) 1.306(7)
N(1)-H(1A) 0.8600
N(1)-H(1B) 0.8600
N(2)-S(1) 1.590(5)
S(1)-0(2) 1.432(4)
S(1)-0(1) 1.446(4)
S(1)-C(9) 1.756(6)
C(9)-C(10) 1.381(8)
C(9)-C(14) 1.384(8)
C(10)-C(11) 1.385(9)
C(10)-H(10) 0.9300
C(11)-C(12) 1.378(10)
C(11)-H(11) 0.9300
C(12)-C(13) 1.363(10)
C(12)-C(15) 1.523(10)
C(13)-C(14) 1.394(9)
C(13)-H(13) 0.9300
C(14)-H(14) 0.9300

S34



C(15)-H(15A) 0.9600

C(15)-H(15B) 0.9600
C(15)-H(15C) 0.9600
C(2)-C(1)-C(6) 120.7(6)
C(2)-C(1)-Br(1) 118.3(6)
C(6)-C(1)-Br(1) 121.0(6)
C(1)-C(2)-C(3) 119.3(6)
C(1)-C(2)-H(2) 120.3
C(3)-C(2)-H(2) 120.3
C(4)-C(3)-C(2) 121.1(6)
C(4)-C(3)-H(3) 119.5
C(2)-C(3)-H(3) 119.5
C(3)-C(4)-C(5) 118.5(6)
C(3)-C(4)-C(7) 121.6(7)
C(5)-C(4)-C(7) 119.9(7)
C(4)-C(5)-C(6) 120.8(6)
C(4)-C(5)-H(5) 119.6
C(6)-C(5)-H(5) 119.6
C(1)-C(6)-C(5) 119.6(6)
C(1)-C(6)-H(6) 120.2
C(5)-C(6)-H(6) 120.2
C(8)-C(7)-C(4) 111.0(5)
C(8)-C(7)-H(7A) 109.4
C(4)-C(7)-H(7A) 109.4
C(8)-C(7)-H(7B) 109.4
C(4)-C(7)-H(7B) 109.4
H(7A)-C(7)-H(7B) 108.0
N(1)-C(8)-N(2) 126.8(6)
N(1)-C(8)-C(7) 115.5(6)
N(2)-C(8)-C(7) 117.7(6)
C(8)-N(1)-H(1A) 120.0
C(8)-N(1)-H(1B) 120.0
H(1A)-N(1)-H(1B) 120.0
C(8)-N(2)-S(1) 124.6(4)
0(2)-S(1)-0(1) 114.3(3)

S35



0(2)-S(1)-N(2) 111.3(3)

0(1)-S(1)-N(2) 113.2(3)
0(2)-S(1)-C(9) 107.8(3)
O(1)-S(1)-C(9) 108.6(2)
N(2)-S(1)-C(9) 100.6(3)
C(10)-C(9)-C(14) 119.7(6)
C(10)-C(9)-S(1) 120.8(4)
C(14)-C(9)-S(1) 119.4(5)
C(9)-C(10)-C(11) 119.7(6)
C(9)-C(10)-H(10) 120.2
C(11)-C(10)-H(10) 120.2
C(10)-C(11)-C(12) 121.4(7)
C(10)-C(11)-H(11) 119.3
C(12)-C(11)-H(11) 119.3
C(13)-C(12)-C(11) 118.3(7)
C(13)-C(12)-C(15) 120.2(9)
C(11)-C(12)-C(15) 121.5(9)
C(12)-C(13)-C(14) 121.9(7)
C(12)-C(13)-H(13) 119.1
C(14)-C(13)-H(13) 119.1
C(13)-C(14)-C(9) 119.1(7)
C(13)-C(14)-H(14) 120.5
C(9)-C(14)-H(14) 120.5
C(12)-C(15)-H(15A) 109.5
C(12)-C(15)-H(15B) 109.5
H(15A)-C(15)-H(15B) 109.5
C(12)-C(15)-H(15C) 109.5
H(15A)-C(15)-H(15C) 109.5
H(15B)-C(15)-H(15C) 109.5

Symmetry transformations used to generate equivalent atoms:

S36



Table S4. Anisotropic displacement parameters (A” x 10?) for sbc08-2. The anisotropic

displacement factor exponent takes the form: -27c2[ h2 a*2yll +

+2hka*b*Ul2)

Ull U22 U33 U23 U13 Ul12
Br(1)  61(1) 194(1) 198(1) 23(1) 23(1) 4(1)
c(1) 58(4) 71(5) 80(5) -5(4) 7(4) 6(4)
CQ2) 79(5) 61(4) 78(5) 3(4) 27(4) _15(4)
C(3) 72(5) 66(5) 63(4) 7(4) 5(4) 11(4)
C(4) 63(4) 66(4) 51(4) -16(4) 6(3) -5(4)
C(5) 89(6) 51(4) 78(5) 5(4) 26(4) 2(4)
C(6) 92(6) 66(5) 78(5) 8(4) 10(4) 37(4)
C(7) 64(5) 111(6) 77(5) 27(5) 14(4) “13(4)
C(8) 49(4) 67(4) 54(4) -5(4) 2(3) 2(4)
N(1) 65(4) 79(4) 76(4) -19(3) 16(3) -22(3)
N(2) 65(3) 85(4) 50(3) -18(3) 14(3) -24(3)
S(1) 48(1) 61(1) 63(1) 9(1) 4(1) 7(1)
o(1) 47(2) 93(3) 57(3) 1(2) 13(2) “13(2)
0(2) 90(4) 82(3) 119(4) -9(3) -11(3) 39(3)
C(9) 51(4) 39(3) 56(4) 2(3) 3(3) 2(3)
C(10)  59(4) 51(4) 77(5) 3(3) A(4) -4(3)
cl) 5705 99(6) 90(5) 8(5) 10(4) 5(4)
C(12)  63(5) 110(7) 76(5) 18(5) -3(4) -33(5)
C(13)  94(6) T4(5) 84(5) 2(4) -9(5) -44(5)
C(14)  84(5) 51(4) 70(5) 2(3) 11(4) -5(4)
C(15)  74(6) 219(11)  133(8) 33(7) -20(5) -80(7)

S37



Table S5. Hydrogen coordinates ( x 10*) and isotropic displacement parameters (A x 10%) for
sbc08-2.

X y z U(eq)
H(2) 2089 9657 11558 86
H(3) 3327 9791 11421 81
H(5) 3056 12872 8854 86
H(6) 1815 12723 8949 95
H(7A) 4276 12239 9861 100
H(7B) 4396 11029 10885 100
H(1A) 4991 10828 6711 87
H(1B) 5110 11747 8088 87
H(10) 2568 10437 6458 75
H(11) 1360 10044 5644 98
H(13) 1885 6979 3484 102
H(14) 3106 7355 4236 82
H(15A) 567 8485 2843 216
H(15B) 409 8571 4757 216
H(15C) 625 7330 3997 216

S38



Table S6. Torsion angles [°] for sbc08-2.

C(6)-C(1)-C(2)-C(3)
Br(1)-C(1)-C(2)-C(3)
C(D)-C(2)-C3)-C(4)
C(2)-CR)-C(H-C(5)
C(2)-CR)-C(H-C(7)
C(3)-C(4)-C(5)-C(6)
C(7)-C(4)-C(5)-C(6)
C(2)-C(1)-C(6)-C(5)
Br(1)-C(1)-C(6)-C(5)
C(#H-C(5)-C(6)-C(1)
CR3)-CA4)-C(7)-C(3)
C(5)-C(4)-C(7)-C(¥)
C(H-C(7)-C(8)-N(1)
C(H-C(7)-C(8)-N2)
N(1)-C(8)-N(2)-5(1)
C(7)-C(8)-N(2)-S(1)
C(8)-N(2)-S(1)-0(2)
C(8)-N(2)-S(1)-0(1)
C(8)-N(2)-5(1)-C(9)
0(2)-S(1)-C(9)-C(10)
O(1)-S(1)-C(9)-C(10)
N(2)-S(1)-C(9)-C(10)
0(2)-S(1)-C(9)-C(14)
O(1)-S(1)-C(9)-C(14)
N(2)-S(1)-C(9)-C(14)
C(14)-C(9)-C(10)-C(11)
S(1)-C(9)-C(10)-C(11)
C(9)-C(10)-C(11)-C(12)
C(10)-C(11)-C(12)-C(13)
C(10)-C(11)-C(12)-C(15)
C(11)-C(12)-C(13)-C(14)
C(15)-C(12)-C(13)-C(14)
C(12)-C(13)-C(14)-C(9)
C(10)-C(9)-C(14)-C(13)

_1.1(10)
178.3(5)
0.7(10)
0.3(9)
-175.5(6)
-0.9(9)
175.0(6)
0.6(10)
-178.8(5)
0.5(10)
87.5(7)
-88.2(8)
152.3(6)
-28.0(9)
_11.1(10)
169.3(5)
100.9(6)
-29.5(6)
-145.2(5)
154.7(5)
-80.9(5)
38.2(5)
-28.9(6)
95.5(5)
~145.4(5)
0.0(9)
176.4(5)
0.6(10)
-0.7(11)
179.1(7)
0.1(11)
-179.7(6)
0.5(10)
-0.6(9)

S39



S(1)-C(9)-C(14)-C(13) -177.0(5)

Symmetry transformations used to generate equivalent atoms:

S40



